i
T
iy
g%

1. ¥(854
(54 PO 113 - AR R S
JBAT% T WHEBERETREA4THLIEL

2. EBENE

1) FHEF4

2) BATHIM

FEEWH)ISH T Wiia KR

304 H [ H 4f1 64 5H 1E
AFn T 2H28H

3) wEtai

AT, BB ARFARINCR T 2 - JF /SRR 5 THIKRE (10.6
k~13. 2k) DK THRfiF OFRA R L O THIXHH (3. 6k~56. 2k) & Tk &
T56DTHD,

4) ¥EBNE
]
%1 HIXH

ot F R 1K

TRk - AR, B E, =2 ) U UFE £ 1K
ARGT (AT,
5 AR ATAE TR (Bl AR

A TR 15
AR B RY)

15

E Ly Est B R



PR E

Tl
P

ESL | BHINNEA - WA R ER Eg W3R
H A HARFATE BiHHL)
THH - TR - fih) B 7 & & A Mol N R
H AR S 3 (BLHER D) =X 1 2,825, 220
=X ) U THE = 1 2,825, 220
T=F Y U THRE = 1 2,825,220 | 22 EEIRE
1 [=]
AT R HO T G4
1 [=]
185 55 AR AL
3 EBh
FiL o H gt R e R R A
1 [=]
FE S A
9 bilfs
ATE R L A
5 [A]
LR = 1 15, 821
[ERI3 T = 1 15, 821
-G k- = 1 15,821 | fiedy (i E - w10
1 =
[EXERIFSE =X 1 2,841, 041
BEERIUFSE =X 1 2,148, 959
AR = 1 2, 148, 959
BB =X 1 4,990, 000
H R TR A 33 G-l - M) G2V 1 7,514, 860

-1 - E Ly Est B R



¥GA | NI - P AR AR 3 ER BHES
H H HAR A3 GHM - 5
THH - TR - FERBI B 7 % & 4 % OB N R
1 = 1 348, 160
S Y # 1 348, 160 | FHiAEfH
1 oV
BRHIAE - B G2V 1 212,020
BERHLE - e 2V 1 212,020 | ERHINAE - H&B
1 oV
B Hh kA = 1 335, 660
B Hh kA = 1 335, 660 | Hiipkd
1 oV
%1 WX 2y 1 4, 180, 240
HIZKR I O FE R 2y 1 188, 180 | HiZR I DFEEE
1 oV
W - AR DL OB =X 1 532,520 | W - AR LR
1 =
TR R ZE B gt 2V 1 1,583,600 | {A[ARZSEMENT
1 =
A TR 1A% D kit =X 1 464, 540 | JKifill THEAH 4R D Bt
1 =
7Kl TRt = 1 1,411,400 | Kl CREE
1 =
55 A X el T =X 1 1, 836, 700
e T ka3t = 1 1,413,400 | fa TRt
1 =
FRALFE R =X 1 423,300 | FRAS MR
1 oV
WA R 2y 1 602, 080

-2 - E Ly Est B R



h

o

e

Tl
P

=
=

~N
ESL | BHINNEA - WA R ER Eg REFES
H A B R A T G- - #E
THAH - LfE - fE5 =RV iy & A BN AR
W EERK =X 602, 080 | W E(ER
1 =
I5m 2V 380, 700
Him GRFER) = 380, 700
AT = 253,500 | ¥TAH
1 =
INBH A S TERR = 127,200 | ZABARRF AL VERK
1 B35
[R5 = 278, 742
[EEE3 23 = 278, 742
ik 22 2 = 49, 742 | hk# (EEE - miAME)
1 =
R R 2 229,000 | FE-pR MR
1 =
HAATEAEE (s . BREAE
FE GHE - 85 28T
BRI (Z OB <) =X 8,174, 302
& DAt AT = 4, 251, 759
— A = 6, 683, 939
SRS = 19, 110, 000
SRS = 24, 100, 000
-3 - E s I 7 R



